Homework 4 MNB MocBio (Stowell) Due  Feb 18
1)Starting with 2 micromole of T linked DNA synthesis resin. Calculate how many micromoles of a 60 mer oligonucleotide you could synthesize given each coupling step has a 95% efficiency. Assume that deprotection and cleavage are 100%.

2)Calculate the isoelectric points for conalbumin (ENTREZ CAA68468) and chicken ovalbumin(ENTREZ AAB59956) using the expasy HTLM links (http://www.ncbi.nlm.nih.gov/ and  http://www.expasy.org/ ). Based on this information what type of ion exchange column was used for the figure in slide 40?
